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#tinclude <stdio. h>

int main(void)

{

printf ("EERALIEEAE

“)

printf "CEEZENHEE ) ;
printf "XFHEKRTKT S,

return 0;

}
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#include <stdio.h>

int main(void)

{
printf ("EHROLIBEEYN") ;
printf "CEEDHEE¥N¥N") ;
printf "XFHERTT H¥n") .,
return 0;

}
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printf ("FHRLIBEFEINCES B DR E YN FI ZRTT H¥n")
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/¥ AAD LT ROH */
#include <stdio.h>
int main(void)
{
// printf ("EEHRLIBEFEYN) |
/%
printf "CEEDHEE¥N¥N") ;
printf "XFHEFRKRT H¥n") ;
*/
return O;

}
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int num;

num = 6;

num
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#tinclude <stdio. h>
int main(void)
{
/| EHDEE
int a;
int b = 100;
int c;
/] KRA
a=10;
¢ =b; /] BEHEFRALTEERATEIIELTED
/] BEEDRR
printf ("%d¥n”, a);
printf (“%d %d¥n”, b, ¢);
return 0;
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printf("%d¥n”, a);

printf(" %d %il¥n", b, ¢);
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#include <stdio.h>

int main(void)

{
// ETREDERR
printf ("5 + 2 = %d¥n”, 5 + 2);
printf ("5 — 2 = %d¥n”, 5 - 2);
printf ("5 * 2 = %d¥n”, 5 * 2);
printf ("5 / 2 = %d¥n”, 5/ 2);
printf ("5 %% 2 = %d¥n”, 5 % 2);

return 0;
}
H h#ER
5+2=1
5-2=3
5%x2=10
5/2=2
5%2=1

XK%ZH AL EEIE%NEEL




EHEXZAN-TOIS5 4

70455 L6

#include <stdio. h>
int main(void)

{
int a=b5 b=2 c;
// ETEDORT

c=a+hbh; printf ("5 + 2 = %d¥n”, ¢);
c=a-b; printf ("5 - 2 = %d¥n”, o¢);
c=ax*b; printf ("5 *x 2 = %d¥n”, ¢);
c=a/b; printf ("5 / 2 = %d¥n”, ¢);
c=a%b; printf ("5 %% 2 = %d¥n”, c);
return 0;

}
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5+2=17

5-2=3

5% 2 =10

5/2=2

5% 2 =1




